



























$$K_{R} = \sum_{i} K_{i} = \sum_{i} \frac{1}{2} m_{i} v_{i}^{2} = \frac{1}{2} \sum_{i} m_{i} r_{i}^{2} \omega^{2} = \frac{1}{2} \left(\sum_{i} m_{i} r_{i}^{2} \right) \omega^{2}$$

$$K_{R} = \frac{1}{2} \left(\sum_{i} m_{i} r_{i}^{2} \right) \omega^{2}$$
Since moment of Inertia, I, is defined as
$$I = \sum_{i} m_{i} r_{i}^{2}$$
Moment of Inertia
The above expression is simplified as
$$K_{R} = \frac{1}{2} I \omega^{2}$$
Rotational Kinetic Energy:
$$Dr. Abdallah M.Azzeer$$

















